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Answer any five questions
All guestions carry cqual marks
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Explain the operation of a separately exvited de motor fed by a single-phase semi
comverter, Discuss the comtinuous made of operation with the help of their povemning,
cquations.

[n a single-phasc fully contruiled converter fed with a separatety excited do motor
having sourve voltupe V=221V, spoed IO rpm, 50 Hz, K.p—0.85 N-S/A-rad,
APTTGIILRG ¢ T iL 18, ..hnullll:" vonlinuot s god ripple-free current. ctormine the
foliowing tor o [ring anele - 45" and speed- | OO0

iy The motor torgue

111 The supply power factor .

1) 1The gpecd regulativn o hock emy volisge .

ivi The eflicicny . [T+8)

Explain the operation ol a three Ium vonvesler led (with scries motoz) in [hrel‘:-ph.hr
semi-converters tor tiring angle 1 45°. Skereh its inprut and vulput voltage wavetorms.
The specd of s 51 KW ‘s(JU V.OJZ00 AL I[Wrpm. separately excited de motor is
conrmodled by a three-phose Tall converies led from 440 V) 50 Hr supply with R=0.152.
Find the sange ol liring angle reyuired between 504 rpm and -500 rpm at rated torque.
7 8]

Describe the retative inents ol demertts of the following types of hmking for de
moties (3 Meckimioal Brovoss it Lemamic heeking and (i) Regenecative braking.

with a neat dngnm.

ACZ20 W 000 rom, A0 A separarcly excited de motor with & armature resistance ol

L, AL source 340 0 o Hle s fed o dual converlers with ac source veltage

{liney=165 %,

Retermine comvester rimg angles for the fllowine operations:

Tt guadrant at ratsd mater rorqus and S04 i

1) Thad quadvant at rated ineter lrgque and =500 mpm, [R+7]

Write the voltage cquations of type A chopper during ‘1o and "1y periods faran RIT
load  Henve. oblain siendy shate antivsis expressians for maxintum and  winimum
currents vonsidered by the joad

A de scries medoer. led from a 400 ‘\. de source Lhrough o chopper. has parameters
L0050, v 0070, K=5107" NimA”, and the averape armature current is 100 AL For
a Lhuppm* ol cycle of 4076, determine:

it 'Ihe input puwer [actor

1) The motor speed and worgne PR 7]



